FETYT. EEOHERHY X7,

KRENVE=FFR SMEHFEE FHRITEETE (4A~9AH)

4 A 5A4 6 A 7H 8 A 9A4
I 1| A [RE4/29) 1| R 1|£ 1|k 1| & [higrimk s (L =)
2| H 2 | k| 2N T AR 2 | & 2 |H 2 |k 2 | &=
3 3 | K | &R 3| £ 3| A [WIRT AR 3R 3|H
1| x 1 |k |zrvom 1|m 1| ST R 1|4 T W B N A E N
5 | & 5 | & |-reon 5|1 [ iy S BT 5 | & 5 |+ 5 |k |mAn xs—raees—
6 | A& 6 |+ 6 | &k |QUTAND 6 | K (AT 47 6| H 6 |k
7| 4& 71H 7K AT 7| 4& 7| H 7K
8 |+ 8 | 71 | 8 | S0 2 RSO FRARID g 8 | x 8 | 4 |#pEzom
9| o |k |BEEESERERS 0 | % [7ro ke om) 9 | 9 | 9 |+ [RpExam
10 [ A [ ha%EA 10 [ K [ZHEAZ T 4% v 7 (ZZRDOE) 10|+ 10| A [ekgEs 10 [ A 10| H
11| & | A%t 1| & %%25;24;;%%%%@%) 11| B |PTAZHAEE 11| & [T RS 11| & Lo 11| B |#F#0/9)
12 [ K | ARIRE VEETEE) R BRG 12 | & | ZHAZ T 4% % 7 (RRIRDEK) 12| A |&Es RAV—NAV2T— 12 | 7K | e X Rl e 12| + 12 |k B SRFRIRE
13 [ & 13| & [ZHEAZ T 4% v 7 (BZHRDE) 13| k| N—=ATF T BV 2k 137K (1, 2FFHRERE  34FE =&k 13| A 13 | 7K |2, 34N T A
14 | 4 [AEfEaxtmE 14 A 14 [ K [3FRENT AR 14 [ 4 [ERiweHHss 14 ( H |PHIT 14 &
15[ + 15 | A |44 (5/13) 16 | R @K oFEbaE THRD 15[ £+ 15 | & |PAIT 15 | 4
16| B 16| K | BlEs AR 16 | 4 (£ DV i Gl =) 16| A 16 | K |7 16 | £ [k R R (~9/17)
171 A %gfggﬁﬁi k= 17 [ K [EEFRAY —F 7T AR 17| & 17| A gD A IVEIZN 17| H
18|k |EEF A VEIERAE 18 | AR |7 AN BA 46 18| A 18 | K |FRAVE AR — & — 2 il i 18 | 4 |ZBA - RBEE A1 18| A |WEDHA
19 [ K [FREE Hima©  HERD 19| 4 19| A [B=#E  Ais 19 | & 19| + [FEpExamE 19 [ k
20| A [ D FHEH 20| +: 20 | o |2 20 | & |t a3t 20| B 20| K
21| & |BIAAET AN FEERAI 21| H 21 | K | H#Z EAEEBIE B (T R 21 | 4 | B FR3E (~8/28) 21| A |[#=5:(8/19) 21| A
23| H 23 | k [RED A7—NAITET— 23 | 4 23| H E:{iiggg% 23| K 23| & [fksroH
24 | A REEEFRR (Mo R) 24 | K | 1L K PTARE a6 2 24 | + |PTAZEZE = 24| H 24| K 24| H
25|k 25 | R [FHETAN @K KL AT 25| H 25 | k 25| & [PTAREKS U5 E) 25 | A ME5RATHE I
26 | K [RAED 26 | & |HHHT AL HERESIHA 26 | A [7ANSIIBH A 26 | 7K 26 | 1= [PTARERS (A E) 26 | K |BEERRS AR 2FEFHRAT
27| AR 27| & 27 | k [bD-3< 0 IRER# = 27| A 27| B |2 27| K | SRS R 2B RAT
28 | 4 28| H 28 [ & 28 | 4 28 A 28| & ??f%ﬁ%@% 2FEFIRAT
29 | 1 |PTAKRE: -2 2N 29 | A 29 | K [RemsiE = 29 | - 29 |k [#hFE ZHL 29 | 4=
30| H 30 [k 30 | 4 30| H 30 [ Ak | MRl (~9/2) 30 |

31 [ 7k 31| H 3| R | EMEMIESE AT




